38

5 ~=5 Riser-Table T-Slot

» Material : Cast iron GG30(DIN)

» Heat treated (Normalized)

- Features : - T-slots available in 14 & M18 mm
» Ready to accept a hole pattern
- T-slot pattern for your special jig
- Available in custom sizes

« Application : Vertical machine centres

Horizontal machine centres

Special purpose machines

A
+0.018
J 0
a
Figure J
S
()
ﬁ//\o,oz/zzoo\A\ A MM
L
N T g
- / TN s
i | |
"% p— | ™ ]
: Do) 3 L

MODEL A B (04 D E
RTG/SQ/400400/250 | 400 400 250 52 30 - - 50 94
RTG/SQ/500500/250 500 500 250 52 30 - - 50 102
RTG/RT/600300/250 600 300 250 52 30 - - 50 132
RTG/RT/800400/250 800 400 250 52 30 - - 50 230
RTG/RT/1000500/250 [ 1000 500 250 52 30 - - 50 370

Note : F, G Values as per customer’s requirement



®

L7773 Riser-Table Grid Hole

39

« Material : Cast iron GG30(DIN)

» Heat treated (Normalized)

 Features : « Alignment bushing

» Threaded insert
« MTP Hole Spacing: 50+ 0.02
« Grid holes available in M12 & M16

« Easily adapts to standardized

- Jig components

« Application : Vertical machine centres

Horizontal machine centres

K£0.02

T-MTP HOLE +0.025

4
012+0.015 = 16 +

19!
16

NN
NN
N

16

T
|

M12x1.75 M16x2

C £0.02

N
N

>]—<

]0,02/300]

. 020.02

E+0.0?2

MODEL
RTG/SQ/400400/250 | 400 400 250 52 30 - - 50 94
RTG/SQ/500500/250 500 500 250 52 30 - - 50 102
RTG/RT/600300/250 600 300 250 52 30 - - 50 135
RTG/RT/800400/250 800 400 250 52 30 - - 50 233
RTG/RT/1000500/250 [ 1000 500 250 52 30 - - 50 382

Note : F, G Values as per customer’s requirement



ions

t

Iica

P amE Spec

40

Qo
o i i
- 1 1
1 1
= . | |
ﬂr.v \\_l/ II._fIII.. 1
(&) PRI _ yTTTTTTTT [y
(@)) —bb-oL-3L. m b bl = M
| [N Qf ! ! 8
a ~L- - -
O : L :
I+ > 1
N L€l "
W 1 1
—— = T T T \\\J
e ”_" " _l_.znul\
\\ ,_“ v
/ Pl L
’ L vl
r------ L | IR P
IIIIIIII T E
[ R T ettt | 1=====---1
\ | ! ! |
, N )
\ b o
N \ I .
S \ V! Y
o 1 1
2oL i
\ 1 1
O \ R vl
= | [ Ll
o | \ |
A i
FA i B S N I
e e — | R ——
r~—=—-—"-" [ I B it
_ o Vo
| ,_” v
\ Pl vy
\ [ o
'y [
| |
[ |

¢0'0FHOLld

suonpoloads

Q
o
e ;
= FOREIRN
(0] I | ,/
5 iir
Q_u RN
Q Tass
©
(@)
©
—
=
7/,|\\\\\|,,4
1 |
1 |
1 |
1 |
1 |
| |
-
Haall :
- 1
" [ "
' |
' |
\ |
\ |
\ |
\ |
\ |
\ |
\ |
\ |
\ |
\ |
\ |
) |
| |
1 |
st |
L
1 ,I,,II. ¢
[ !
[ !
[ !
[ !
Lo !
1 ! I |
L
[
I " "
%
1>
€c

M12 TYPE

M16 TYPE

I, _ — =

@16 MTP hole

212 MTP hole

Grid address

M12 or M16

M16x2

Qe
3 -
(do)
m MVVVVWVWVYVVV
7 memg
L 9l 0C
22 - - u
b
* NN
L 2L 9l

M12x1.75

50+0.02



